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2 H A R

FRE) - B SRATE S

REME15 K

MAEBHENSHH R2.5.11 8.3 11.9  R3.2.1 [ E&m BIK ERZ]
7K iR (‘C) 12.9 22.9 15.9 73] 4 22.9 7.3 14.8
— & M E (CFU/mL) 0 0 0 o 4 0 0 0
N | 100mLH) [ B4 w9 MbEd s 4 - - -
HRIT DK RZFDILEY (mg/L)| <0.0003 <0.0003 = <0.0003 | <0.0003 | 4  <0.0003 | <0.0003 <0.0003
IKER I FDLE W (mg/L) [<0.00005 <0.00005 <0.00005 <0.00005 | 4 <0.00005 |<0.00005 <0.00005
LU R OEDILED (mg/L)| <0.001  <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
SR OZEDILEY (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
vE L NFOLE W (mg/L)| <0.001 <0.001 | <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VA= (=Y (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
TR IEZE R (mg/L)| <0.001 <0.001 | <0.001 | <0.001| 4| <0.001 <0.001  <0.001
YT ACIAE e O YTy (mg/L)| <0.001  <0.001  <0.001  <0.001| 4  <0.001  <0.001  <0.001
EERRE K NS ERRE 22 35 (mg/L) 0.46 0.44 0.47 0.61| 4 0.61 0.44 0.50
7o OZFDLEY (mg/L) 0.06 0.07 0.07 0.07| 4 0.07 0.06 0.07
KU E K OZEDILEY (mg/L) 0.01 0.01 0.01 0.02| 4 0.02 0.01 0.01
RS (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
1,4- A %Y (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VAR NN A-1,2-y aaxFly (mg/L) | <0.0001 | <0.0001 | <0.0001 @ <0.0001 | 4  <0.0001 <0.0001 | <0.0001
PruonuaRAK (mg/L)| <0.001 <0.001 | <0.001 | <0.001| 4| <0.001 <0.001  <0.001
Th7/unzFL (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
K ZonxFL (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
~N B v (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
e (mg/L) 0.04 0.06 0.04 0.02| 4 0.06 0.02 0.04
VA=t=t (1 (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VAR =R N (mg/L) 0.008 0.013 0.010 0.006 | 4 0.013 0.006 0.009
CrunlElE (mg/L) 0.005 0.009 0.005 0.003| 4 0.009 0.003 0.006
DA A== b Y (mg/L)| <0.001  <0.001 0.001 0.001 | 4 0.001 = <0.001  <0.001
el (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
KahU mAK (mg/L) 0.011 0.017 0.015 0.011| 4 0.017 0.011 0.014
P A=t=13. (mg/L) 0.007 0.010 0.008 0.006 | 4 0.010 0.006 0.008
AR A== Y 4 (mg/L) 0.003 0.004 0.004 0.004 | 4 0.004 0.003 0.004
T HRER/LL (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
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TNAI=U LR OFONAEY  (ng/L) 0.01 0.03 0.02 0.02| 4 0.03 0.01 0.02
B OF Db (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
ARk NF DAY (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
FRT LR OFEDIEEY (mg/L) 6.9 6.1 6.9 99| 4 9.9 6.1 7.5
<~ H R ORZEDILAEY (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
Bk A A v (mg/L) 9.3 8.1 9.4 13| 4 13 8.1 10
ANYIA T RV NE@E ) (mg/L) 44 38 41 54| 4 54 38 44
K KR E W (mg/L) 75 75 86 98| 4 98 75 84
A A P TEPE A (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
A AI (mg/L) <0.000001 | 0.000002 ' 0.000001 | 0.000001 4 | 0.000002 <0.000001 | 0.000001
Z*X?JD/(V?JL\VW‘%—/D (mg/L) <0.000001 |<0.000001 <0.000001 [<0.000001 4 1<0.000001 [<0.000001 |<0.000001
FEA A S s Al (mg/L)| <0.005  <0.005  <0.005 <0.005| 4 <0.005 <0.005 | <0.005
7 /) — LI (mg/L)| <0.0005 <0.0005 <0.0005 | <0.0005| 4 <0.0005| <0.0005 <0.0005
W (TOCHE) (mg/L) 0.8 0.7 0.8 08| 4 0.8 0.7 0.8
pH it 7.2 7.2 7.4 76| 4 7.6 7.2 7.4

S Byl BERL BELRL BERL] 4 - - -
5 = BEeL BERL BERLL BERL| 4 - - -
) B () <0.5 <0.5 <0.5 0.5] 4 <0.5 <0.5 <0.5
b £ (J£) <0.05 <0.05 <0.05 <0.05| 4 <0.05 <0.05 <0.05
W B Y e R (mg/L) 0.7 0.8 0.8 0.7] 4 0.8 0.7 0.7
w7 oL B (mg/L) 37.0 32.5 37.5 46.5| 4 46.5 32.5 38.4
A xR (1S/cm) 125 109 123 155 | 4 155 109 128
TR T HEE S (mg/L) - - - - - - - -
% 3l W) & (SS) (mg/L) - - - - - - - -
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w5 1R

REME 25 K

A EEHNEHH R2.4.13 R2.7.6 10.5  R3.1.12 |3 f&& K )
7K iR (‘C) 12.6 21.7 21.7 107 4 21.7 10.7 16.7
— & M E (CFU/mL) 0 0 0 o 4 0 0 0
N | 100mLH) [ B4 w9 BbEd s3] 4 - - -
HRIT DK RZFDILEY (mg/L)| <0.0003 <0.0003 <0.0003 | <0.0003| 4 <0.0003 | <0.0003 | <0.0003
IKER I FDLE W (mg/L) |<0.00005 <0.00005 <0.00005 |<0.00005 | 4 <0.00005 |<0.00005 <0.00005
LU R OEDILED (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
SR OZEDILEY (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
vE L NFOLE W (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VA= (=Y (mg/L)| <0.001  <0.001  <0.001  <0.001| 4| <0.001 <0.001  <0.001
TR IEZE R (mg/L)| <0.001  <0.001 <0.001  <0.001| 4| <0.001 <0.001  <0.001
ST ALY e O YTy (mg/L) | <0.001 © <0.001  <0.001 = <0.001| 4| <0.001  <0.001  <0.001
EERRE K NS ERRE 22 35 (mg/L) 0.27 0.26 0.35 0.29 | 4 0.35 0.26 0.29
7o OZFDLEY (mg/L) 0.05 0.05 0.05 0.04| 4 0.05 0.04 0.05
KU E K OZEDILEY (mg/L) 0.01 0.01 0.01 0.02] 4 0.02 0.01 0.01
RS (mg/L)| <0.0001 <0.0001 <0.0001 | <0.0001 | 4 | <0.0001 <0.0001 <0.0001
1,4- A %Y (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VAR NN A-1,2-Y anxFly (mg/L) | <0.0001 | <0.0001 | <0.0001 <0.0001 | 4 <0.0001 <0.0001 | <0.0001
PruonuaRAK (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
Th7/unzFL (mg/L)| <0.0001 <0.0001 <0.0001 | <0.0001 | 4 | <0.0001 <0.0001 <0.0001
K ZonxFL (mg/L)| <0.0001 <0.0001 <0.0001 | <0.0001 | 4 | <0.0001 <0.0001 <0.0001
~N B v (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
e (mg/L) 0.03 0.03 0.02 0.01] 4 0.03 0.01 0.02
VA=t=t (1 (mg/L)| <0.001  <0.001  <0.001  <0.001| 4| <0.001 <0.001  <0.001
VAR =R N (mg/L) 0.006 0.016 0.014 0.002| 4 0.016 0.002 0.010
CrunlElE (mg/L) 0.005 0.010 0.009 0.001| 4 0.010 0.001 0.006
DA A== b Y (mg/L) 0.002 0.001 0.002 0.002| 4 0.002 0.001 0.002
el (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
KahU mAK (mg/L) 0.012 0.022 0.021 0.006 | 4 0.022 0.006 0.015
P A=t=13. (mg/L) 0.004 0.010 0.008 | <0.001| 4 0.010 | <0.001 0.006
AR A== Y 4 (mg/L) 0.004 0.005 0.005 0.002| 4 0.005 0.002 0.004
T HRER/LL (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
FILLTIVFER (mg/L) 0.003 0.002 0.002 | <0.001| 4 0.003 | <0.001 0.002
W R O DAY (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
TNAI=DU LK ONFONAEY  (ng/L) 0.02 0.04 0.04 0.01] 4 0.04 0.01 0.03
B OF Db (mg/L) <0.01 <0.01 <0.01 0.01] 4 <0.01 <0.01 <0.01
ARk NF DAY (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
FRIT LK NFDAiLEY (mg/L) 6.3 6.6 5.5 76| 4 7.6 5.5 6.5
<~ H R ORZEDILAEY (mg/L)| <0.001  <0.001  <0.001  <0.001| 4| <0.001 <0.001  <0.001
N A (mg/L) 6.8 6.8 7.0 78| 4 7.8 6.8 7.1
ANYIA T RV NE@E ) (meg/L) 36 38 35 441 4 44 35 38
K KR E W (mg/L) 62 71 64 74| 4 74 62 68
A A T s A (mg/L) <0.01 <0.01 <0.01 .01 4 <0.01 <0.01 <0.01
At AI (mg/L) 0.000001 <0.000001 |<0.000001 <0.000001 4 | 0.000001 |<0.000001 <0.000001
2*7‘?/1//(7712°/vz‘\7f—/v (mg/L) 0.000001 | 0.000001 | 0.000001 | 0.000001 4 | 0.000001 | 0.000001 | 0.000001
FEA A S g A (mg/L)| <0.005 <0.005 <0.005 | <0.005| 4 <0.005| <0.005 <0.005
7 /) — LI (mg/L)| <0.0005 <0.0005 <0.0005 | <0.0005| 4  <0.0005 | <0.0005 <0.0005
W (TOCHE) (mg/L) 0.3 0.5 0.4 02| 4 0.5 0.2 0.4
pH it 7.7 7.7 7.7 7.7 4 7.7 7.7 7.7

S Bl BERL BERLL BERL] 4 - - -
5 = Bl BERL BERLL BERL] 4 - - -
) B (F£) <0.5 <0.5 <0.5 0.5 4 <0.5 <0.5 <0.5
b £ (%) <0.05 <0.05 <0.05 <0.05| 4 <0.05 <0.05 <0.05
WE Bt 7k 8 R % (mg/L) 0.6 0.7 0.8 08| 4 0.8 0.6 0.7
w7 oL B (mg/L) 35.5 33.0 32.5 37.0] 4 37.0 32.5 34.5
A xR (. S/cm) 109 108 100 121 4 121 100 110
TR T HEE S (mg/L) - - - - - - - -
% 3l W) & (SS) (mg/L) - - - - - - - -
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SR e Y= A\
/\/Vth{ﬂﬁ{:l\

é%ﬁm%1§7kﬂﬁ
A EEHNEAHH R2.4.13 R2.7.6 10.5 | R3.1.12 [0 fm AKX S

7K iR (‘C) 22.3 22.8 76 3 22.8 7.6 17.6
— & (CFU/mL) 0 0 o 3 0 0 0

N (100mLH7) BT | BB BHE| 3 - - -
HRIT LR RFDLEW (mg/L) <0.0003 | <0.0003 @ <0.0003 | 3 <0.0003 | <0.0003 <0.0003
KER K OFDILEW (mg/L) <0.00005 <0.00005 <0.00005 | 3 <0.00005 <0.00005 <0.00005
LU R OFOIEY (mg/L) <0.001 = <0.001  <0.001| 3 <0.001 <0.001  <0.001
K OFEDALE W) (mg/L) <0.001  <0.001  <0.001| 3 <0.001 <0.001  <0.001
LE K RFOLEY) (mg/L) <0.001  <0.001  <0.001| 3 <0.001 <0.001  <0.001
VN A=ON(2-Y7 (mg/L) ) <0.001  <0.001  <0.001| 3 <0.001 <0.001  <0.001
MR REZE 2 (mg/L) izl <0.001  <0.001  <0.001| 3 <0.001 <0.001  <0.001
VT ALY RO LY Ty (mg/L) Pt <0.001 = <0.001  <0.001| 3 <0.001 <0.001  <0.001
TS EATE N OV RS A RE 22 35 (mg/L) EA 0.39 0.41 0.46 | 3 0.46 0.39 0.42
7 9#E M OFDILEW (mg/L) %) 0.07 0.07 0.06| 3 0.07 0.06 0.07
KU FE K RZFDILEW (mg/L) 7 0.01 0.02 0.02| 3 0.02 0.01 0.02
RS (mg/L) D <0.0001 | <0.0001 @ <0.0001 | 3 <0.0001 <0.0001 <0.0001
1,4- A %W (mg/L) _ <0.001 = <0.001  <0.001| 3 <0.001 <0.001  <0.001
VAR O A-1,2- aaxFly (mg/L) 7 <0.0001 | <0.0001 @ <0.0001 | 3 <0.0001 <0.0001 <0.0001
Crnn AL (mg/L) L <0.001 = <0.001  <0.001| 3 <0.001 <0.001  <0.001
FrS T FL (mg/L) R <0.0001 | <0.0001 @ <0.0001 | 3 <0.0001 <0.0001 <0.0001
[P A=i= s (mg/L) H <0.0001 | <0.0001 @ <0.0001 | 3 <0.0001 <0.0001 <0.0001
I 2 (mg/L) <0.001 = <0.001  <0.001| 3 <0.001 <0.001  <0.001
RS (mg/L) 0.04 0.05 0.02| 3 0.05 0.02 0.04
I aa e (mg/L) <0.001  <0.001  <0.001| 3 <0.001 <0.001  <0.001
VAR WA (mg/L) 0.015 0.015 0.005 | 3 0.015 0.005 0.012
Cruulilg (mg/L) 0.010 0.010 0.003 | 3 0.010 0.003 0.008
DA=s A== P (mg/L) 0.001 0.001 0.002 | 3 0.002 0.001 0.001
BRI (mg/L) <0.001 = <0.001  <0.001| 3 <0.001 <0.001  <0.001
NN =F (mg/L) 0.021 0.021 0.011| 3 0.021 0.011 0.018
KU 27 v e e (mg/L) 0.012 0.012 0.005 | 3 0.012 0.005 0.010
PAEE I A=1=0 Y (mg/L) 0.005 0.005 0.004 [ 3 0.005 0.004 0.005
T HEER/L L (mg/L) <0.001 = <0.001  <0.001| 3 <0.001 <0.001  <0.001
AIVLTILVTFER (mg/L) 0.002 0.002  <0.001| 3 0.002  <0.001 0.001
Weh Kk O D&Y (mg/L) <0.01 <0.01 <0.01| 3 <0.01 <0.01 <0.01
TN LK OTEDONEY (mg/L) 0.03 0.04 0.02| 3 0.04 0.02 0.03
B} NF DAY (mg/L) <0.01 <0.01 <0.01| 3 <0.01 <0.01 <0.01
i Je O F DL A (mg/L) <0.01 <0.01 <0.01| 3 <0.01 <0.01 <0.01
F R LR OFDILE Y (mg/L) 6.7 7.2 89| 3 8.9 6.7 7.6
~ B R OZFOIEY (mg/L) <0.001 = <0.001  <0.001| 3 <0.001 <0.001  <0.001
Wik WA 4+ v (mg/L) 8.4 9.5 0| 3 10 8.4 9.3
INVYTA T RV NEGE ) (mg/L) 40 44 50| 3 50 40 45
AKEKXRHEWD (mg/L) 79 85 90| 3 90 79 85
A A S A (mg/L) <0.01 <0.01 <0.01| 3 <0.01 <0.01 <0.01
Tt AI (mg/L) 0.000001 1<0.000001 [<0.000001 3 | 0.000001 /<0.000001 |<0.000001
2*%?/1//{77]?‘/1/7‘{\1‘—/1/ (mg/L) <0.000001 |<0.000001 1<0.000001 3 1<0.000001 <0.000001 |<0.000001
FEA A T s A (mg/L) <0.005  <0.005 <0.005| 3| <0.005 <0.005  <0.005
7 /) — VI (mg/L) <0.0005 | <0.0005 @ <0.0005 | 3 <0.0005 | <0.0005 <0.0005
HHEM (TOCHH) (mg/L) 0.8 0.7 06| 3 0.8 0.6 0.7
pH it 7.4 7.5 76| 3 7.6 7.4 7.5

e el | Bl | Bl 3 - - -

= = el | Bl | Bl 3 - - -
@, E () <0.5 <0.5 0.5 3 <0.5 <0.5 <0.5
& E () <0.05 <0.05 <0.05| 3 <0.05 <0.05 <0.05
o AR S (mg/L) 0.7 0.7 08] 3 0.8 0.7 0.7
W7 LAY ; (mg/L) 34.5 39.5 425| 3 42.5 34.5 38.8
A (1 S/cm) 116 125 140 3 140 116 127

7/%%7%%$ (mg/L) - - - - - - -

% i ) B (SS) (mg/L) - - - - - - -
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FPE)RHE

REETH 5 252 /K Hi

MAEBHENSHH R2.5.11 8.3 11.9  R3.2.1 [ E&m BIK ERZ]
7K iR (‘C) 12.9 23.1 16.3 8.1 4 23.1 8.1 15.1
— & M E (CFU/mL) 0 0 0 o 4 0 0 0
N | 100mLH) [ B4 w9 MbEd s 4 - - -
HRIT DK RZFDILEY (mg/L)| <0.0003 <0.0003 = <0.0003 | <0.0003 | 4  <0.0003 | <0.0003 <0.0003
IKER I FDLE W (mg/L) [<0.00005 <0.00005 <0.00005 <0.00005 | 4 <0.00005 |<0.00005 <0.00005
LU R OEDILED (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001 <0.001 | <0.001
SR OZEDILEY (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
vE L NFOLE W (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001  <0.001 | <0.001
VA= (=Y (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
TR IEZE R (mg/L)| <0.001 <0.001 | <0.001 | <0.001| 4| <0.001 <0.001  <0.001
YT ACIAE e O YTy (mg/L)| <0.001  <0.001  <0.001  <0.001| 4  <0.001  <0.001  <0.001
EERRE K NS ERRE 22 35 (mg/L) 0.51 0.45 0.48 064 4 0.64 0.45 0.52
7o OZFDLEY (mg/L) 0.07 0.07 0.07 0.07| 4 0.07 0.07 0.07
KU E K OZEDILEY (mg/L) 0.01 0.01 0.01 0.02| 4 0.02 0.01 0.01
RS (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
1,4- A %Y (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001 <0.001 | <0.001
VAR NN A-1,2-y aaxFly (mg/L) | <0.0001 | <0.0001 | <0.0001 @ <0.0001 | 4  <0.0001 <0.0001 | <0.0001
PruonuaRAK (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001 <0.001 | <0.001
Th7/unzFL (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
K ZonxFL (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
~N B v (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001 <0.001 | <0.001
e (mg/L) 0.05 0.07 0.05 0.02| 4 0.07 0.02 0.05
VA=t=t (1 (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VAR =R N (mg/L) 0.008 0.012 0.009 0.006 | 4 0.012 0.006 0.009
CrunlElE (mg/L) 0.005 0.008 0.005 0.004| 4 0.008 0.004 0.006
DA A== b Y (mg/L)| <0.001  <0.001 | <0.001 0.001| 4 0.001 = <0.001  <0.001
el (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
KahU mAK (mg/L) 0.011 0.016 0.013 0.011| 4 0.016 0.011 0.013
P A=t=13. (mg/L) 0.007 0.009 0.008 0.007 | 4 0.009 0.007 0.008
AR A== Y 4 (mg/L) 0.003 0.004 0.004 0.004| 4 0.004 0.003 0.004
T HRER/LL (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001 <0.001 | <0.001
FILLTIVFER (mg/L) 0.001 | <0.001 0.002 | <0.001| 4 0.002 | <0.001 | <0.001
W R O DAY (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
TNAI=U LR OFONAEY  (ng/L) 0.01 0.03 0.02 0.02| 4 0.03 0.01 0.02
B OF Db (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
ARk NF DAY (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
FRT LR OFEDIEEY (mg/L) 7.0 6.2 7.2 | 4 10 6.2 7.6
<~ H R ORZEDILAEY (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
Bk A A v (mg/L) 9.6 8.4 10 13| 4 13 8.4 10
ANYIA T RV NE@E ) (mg/L) 45 39 44 55| 4 55 39 46
K KR E W (mg/L) 81 76 90 02| 4 102 76 87
A A P TEPE A (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
A AI (mg/L) <0.000001 | 0.000003 | 0.000001 | 0.000001 4 | 0.000003 <0.000001 | 0.000001
Z*X?IL/(V?JL\VW\ﬁﬂD (mg/L) <0.000001 |<0.000001 <0.000001 [<0.000001 4 1<0.000001 [<0.000001 |<0.000001
FEA A S g A (mg/L)| <0.005 <0.005  <0.005 | <0.005| 4 <0.005| <0.005 <0.005
7 /) — LI (mg/L)| <0.0005 <0.0005 <0.0005 | <0.0005| 4 <0.0005| <0.0005 <0.0005
W (TOCHE) (mg/L) 0.8 0.7 0.8 09| 4 0.9 0.7 0.8
pH it 7.1 7.1 7.3 75| 4 7.5 7.1 7.3

S Byl BERL BELRL BERL] 4 - - -
5 = BEeL BERL BERLL BERL| 4 - - -
) B () 0.7 <0.5 <0.5 05| 4 0.7 <0.5 0.5
b £ (J£) <0.05 <0.05 <0.05 <0.05| 4 <0.05 <0.05 <0.05
W B Y e R (mg/L) 0.8 0.8 0.8 0.7] 4 0.8 0.7 0.8
w7 oL B (mg/L) 38.0 33.0 38.5 48.0 4 48.0 33.0 39.4
A xR (1S/cm) 127 111 128 159 4 159 111 131
TR T HEE S (mg/L) - - - - - - - -
% 3l W) & (SS) (mg/L) - - - - - - - -
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